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Month-3
Follow-up

Completed assessment (N = 15; 6 clusters;
cluster N's:6,1,4,2,1,1)
- Meets wear time criteria:

Yes: (N = 12); No: (N = 3)- imputed
Lost to follow-up (N = 6; 2 clusters LFU

Completed assessment (N = 21; 9 clusters;
cluster N's:4,7,2,2,1,2,1,1, 1)
- Meets wear time criteria:

Yes: (N = 16); No: (N = 5)- imputed
Lost to follow-up (N = 2; no entire clusters

Completed assessment (N = 22; 7 clusters;
cluster N's: 1, 3,11, 1,1, 4, 1)
- Meets wear time criteria:

Yes: (N = 14); No: (N = 8)- imputed
Lost to follow-up (N = 0)
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Month-6
Follow-up

Completed assessment (N = 14; 6 clusters;
cluster N's:6, 1, 3,1,1,2)
- Meets wear time criteria:

Yes: (N =7); No: (N = 7)- imputed
Lost to follow-up (N = 7; 2 clusters LFU
entirely)

Completed assessment (N = 20; 8 clusters;
cluster N's:4,7,2,2,2,1,1,1)
- Meets wear time criteria:

Yes: (N = 13); No: (N = 7)- imputed
Lost to follow-up (N = 3; 1 cluster LFU
entirely)

Completed assessment (N = 19; 6 clusters;
cluster N's: 1, 3, 10, 1, 3, 1)
- Meets wear time criteria:

Yes: (N =8); No: (N = 11)- imputed
Lost to follow-up (N = 3; 1 cluster LFU
entirely)

Month-12
Follow-up

Completed assessment (N = 18; 7 clusters;
cluster N's:6,2,4,2,1,1,2)
- Meets wear time criteria:

Yes: (N = 15); No: (N = 3)- imputed
Lost to follow-up (N = 3; 1 cluster LFU
entirely)

Completed assessment (N = 20; 8 clusters;
cluster N's:4,7,2,2,2,1,1,1)
- Meets wear time criteria:

Yes: (N = 14); No: (N = 6)- imputed
Lost to follow-up (N = 3; 1 clusters LFU
entirely)

Completed assessment (N = 20; 6 clusters;
clusters N's: 1, 3, 10, 1, 4, 1)
- Meets wear time criteria:

Yes: (N = 16); No: (N = 4)- imputed
Lost to follow-up (N = 2; 1 cluster LFU
entirely)

Analyses

Final sample used in analyses:

- Baseline: (N = 21; 8 clusters)

- Month-3 follow-up: (N = 15; 6 clusters)
- Month-6 follow-up: (N= 14; 6 clusters)

- Month-12 follow-up: (N= 18; 7 clusters)

Final sample used in analyses:

- Baseline: (N = 23; 9 clusters)

- Month-3 follow-up: (N = 21; 9 clusters)
- Month-6 follow-up: (N= 20; 8 clusters)

- Month-12 follow-up: (N= 20; 8 clusters)

Final sample used in analyses:

- Baseline: (N = 22; 7 clusters)

- Month-3 follow-up: (N = 22; 7 clusters)
- Month-6 follow-up: (N= 19; 6 clusters)
- Month-12 follow-up: (N= 20; 6 clusters)

Supplemental Figure 1. Flow diagram of enrollment, participation, attrition, and analyses for total daily time




